WORKSHEET - 1 HYSs A=t (Integers) AHS A<l

.

-
| I

1. $ 7 65433240132 3485 67 8
(a) -4W3 6 & AT IUT I TIAS | Represent — 4 and 6 on number line.
(b) 3MI -7 §ﬁf&"ﬂ"’3‘&"’§€'€ﬂ"‘@l Represent 3 and —7 on number line.

- Wmam Fill in the blanks. ferfapeir (Activity)
@ )+H=_ (-3)+8

o oo | OO0O0
() 36+(52) (36)=_ SR
=+ 3

(d 3H+7-09)=_

8. dEEEH UITdd | Find the product. 4. g7drad | Divide.

(@ (-55)x15= (@)  (=30)=10=
(b)  7)x(-18)= (b) (=36)+(-9) =
(c) (Hx(3)x(2)= (c) S0+(-5=

5. e Ifoe=and Augs Aftret § Afanraier I3t g fEa AYIs Aftmr yuz gt 91
When two negative integers are added we geta integer.

6. GUAYIS AfterT u3Tad fameT (— 1) 575 JEaes e J1

Determine the integer whose product with (— 1) is zero.

7. I fed fAdtt Augs A=t (a,b) T A3 883 fd a+b=-3 T fensgi o feaasT
(6,~2) I fa@fa 6+ (—2) = (—3) TI/ Write five pairs of integers (a,h) such that a + b= -3
one such pair is (6,—2) because 6+ (—2)=(-3).

n____ () i) ____ (v)____ v ____
8. Y@t g=tgdl Fill in the blanks.
(a17+( )y=0 ((b)=3)x0= () =75+  =-1
9. J& ey gafmdt & uaT 31 Complete the boxes.
Bl 11| g [- % | 5 —4 “ o :
i | 4 2| 7 4 | 2| -1
4 +9 o3 [-3 7|1
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10.

11.

12.

13.

14.

HdT Jrg7d &1 9 91 Choose the correct baloon.
(a) -7+3 (b) (—7)x(—6)

/ Sk
i) &

&

A A faeaHa Auas Aftm=t (a,b) €Az 883t fa e »=8 JI fem3gi e few
a7 (-5,-13) T fagfa (-5)—(—13) =8 T/ Write five pairs of negative integers (a,b)
such that « —b =8 . One such pairis (—5,—13) because (—5) - (—13)=8.

o . @__ () (1v) (v)
10 Ua&t 8 fe'g A3 ¢ne @9, Jda sla 83 4 Ma eI AR da M3 a@3 B39 ¢

(- 2)#a 2 AT 5| JaUT3 A'd UH& 3% gdat J, €1 G & wa ga<dr Aad §ne
(1) 6dIdE (i) 33FdE (i) 1dade

In a class test containing 10 questions, 4 marks are given for every correct answer and (— 2)
marks are given for every incorrect answer. Gurpreet attempt all questions. What will be her
score if :

(1) 6 of her answers are correct (i1) 3 of her answers are correct (111) 1 of her answer is correct

8f93 e &7 ylar dde I, JIesed U3T A4 / Using suitable formula find the product.
(a) 24 x (-38) + (-38) x (-34) =
(b) 22 x (-25) x (-4) x (-10) =
(©) 525 % (=35) + (-525) x 65 =
X, yM3 z € J6& (&4 gda H&™ {9 9dd & L x+(y+2)£(x+))+(x+z) €T HIEI U3 Ad |

For the following values of x, y and z, check whether the relation x-+(y+z)#(x+y)+(x+z)
hold or not
(a)x=12,y=-6,z=4 (b)x=16,y=4,z=-2
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WORKSHEET - 2 ~ BotnEEmme AH3 A<t
(Fractions and Decimals)

i 939 Mg fg&T T 13e® U3 &4 |/ Find sum according to given pictures.

BN D - R

2 3 2 8
8 8 20 20
2. fd&Tard3€® U3TAd|/Find the sum of fractions.
(1) ) 4_ (11) 5 3
(i) 3.2 (iv) 3.1
ni) —+-= Wl b=
5 7 4 10
f33=t feut
3. f9&t @ d3e® U3TAJ | /Find the sum following fractions.
o 3 A0 i B B A
@) 3+5%3 W35 0
4. fime3 feat @7 #3e® U3 &3 | /Find the sum of following mixed fractions.
| 1 5 3
i) 4—+6—= i) 2—+5—=
W) 45703 @ 275773

e fg39 »igAg f9aT ¥ IIeae® U3 &9 | /Find the product of fractions according to diagram.

o == ya Ya )
L\

1 sl | 2
Ix—= 8 4

6. fg&t @7 gIe®de® U3T &9 1 /Find the product of given fractions.

1
3 572 2 4 -
7.  f9&t @ yds Hitw™ 578 Jea6e® U3Tdd |/ Find Product.

3 2 3 35 L]
B Tg%3 = — (i) T% 5= _— (it)) 5~

8 9 1 1
(1) 10 X (11) 0 X (111) > %9 (1v) - X
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10.

3573 ()573 ()  5+3
9. fimfaz faat T 979e® UST A |/ Find division of following mixed fractions.
3 1 1 2
1) 4—+4—= 1) 3—+4—=
(1) 25793 (i) o5 =43
y&T g=t g9/ Fill in the blanks.
(100) (10) (1) (1/10) (1/100) (1/1000)
3 7 1 3 2 372.132
e -— — ——- 0 570.320
7 5 1 9 3 7 S

Wl

Lo

13

14.

16.

fgaT T gTale® U3Tdd |/ Find division of Fractions.

ferfg3 gu fe'a f8H 1/ Write in expanded form.
SCIOCGE 253.417=2x100+5x10+3x1+4x[%}+1X[L)+7XEL]

100 100
(1) 2941 =
(i) 3567 =
(iil)  230.321=
THHS< A T €T I ae® UIT Ad |/ Find the product of decimal numbers
(1) 0.03x0.9= (1) 02x03= (1) 12x2.5=

H'® U3T dd |/ Find the value:

(1) 765.4x10= (1) 765.4 x 1000 =
YT®%1 HET& gd | /Fill in the blanks.

(iil) 0.01x1000 =

Q.05

% = 20
e ]
rd It [ ]
- 05
] ]
3 3 20
% e 5 50 : -

1
5

=

ehe

[]
Uie feg faaT forT yar ag <4 |

1

1
Rupinder can do 3 of the work in one hour. How muh work she will complete in Eg hours

al At n ] e n_~ el =
gfu—e‘crfEHafHET; fomr 1 uie f&9 yar godt J1 2
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WORKSHEET - 3

miafan & ygus -

(Data Handling)

10.

WHI AT I SUMI AT I WU & vidfant & Jer J1(g7gq / fega)
Average lies the biggest and smallest number of the data (outside/between)
HOH'S = Mean =

Yyt & Hivpr Number of observations

Ag 3 T ITYHS- AF T &7 UUT = Highest Observation -Lowest Observation =
Ufg@ it I yas Aftp =t @7 HOH™S U3 dd |/ Find mean of first five whole numbers.

IS ¢

ufas ot f3& et g™ Aftm™=T €7 HOW™® U3T &3 |/ Find the mean of first three odd prime
numbers. I

fe'3 98 Uuet € g iy f[f9 Ag F Su g wle @3 yye feg Aayg @

a8 eTd 1/ Qut of gives observations the number which occurs maximum called :
Aftpet2,2,2,3,3,4,5,5,5,5,6,6,8 T 5g&d UIT AT |

Find the mode of the numbers:2,2,2,3,3,4,5,5,5,5,6,6,8

W

d®% .
fe 3 mafswt & <ud af wee g fS9 gdta fiS g aas I gmie Bust & sla-sta & g
fegsTsTa s Guat er Jerdl

After arranging the data in ascending or descending order the middle term is called
His’ 779 feast i[9 fausr ags Adt Ti (v AF X)

Which of the following statement is true about mean (¢ or X)

(i) feg fe2 38 Yuet & © sag gg Ut ff9 @3e7 T It divides the data in two equal groups.( )

(ii) f€'2 AYd AT =7 ySifsu qger J1 /It represents the whole group. )
(iii) A9 f[HET aTasJerdl / Tt 1s sum of all observations ( )

‘ggsa 979 feust i fausT g8« Agt 37 / Which of the following statement is true about
"Mode' :- (i) feT fegamasT W's der J1/ 1t is the middle term ( )

(i) feg myT fee A9 3 ST T M @E T/ It occurs maximum times in the group ()

(iii) feg fegaa® € Yu=t &t »iAx g€ 31/ It is the average of two middle terms ()
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11. 10 fefemradtt & §oret (7 M. f<9) fem ya™3 T 1/ The height of 10 students (in c.m.) is as
under. 143,131,150,139,128,136,151, 146,141, 144
(i) Gudas Waz ot fegmy AiHT &=t I ? What is the range of the data ( )
(i) fefewraghnt & Hos G9met faat 37
What 1s the average height of the students?
12. fegst f&9 faas™ a8a Aat 7/ Which of the following is true?
(i) ufgshit 5 Ufaaa Aftmi=st & HoWs w3 Higar sargg g<it 31
Mean and median of first five natural number are same. ( )
(i) ufg@bwt s yfaaa »z ufgsht 5 yga After<t or HoWs Sorgg 9o 31
Mean of first five natural number and first 5 whole numbers are same. ( )
(iii) ufa@t s yrfgaa Afumret @rgg@a 5 €7 31 Mode of first 5 natural numbes is 5.( )
13. foMs wes=t € fyge &t A&7 U3Tdd |/ Find the probability of following events
(i) fETH3fEIUATFeT I ma™ AT ST & Ag=aT df d=dif ?
What is the probability of getting a prime number in throwing a dice.  ( )
(i) 15 FB I 9 fTnt et feg Bt dret € e &t AgresT ot 324t ?
What is the probability of getting a white ball out of 15 red and 9 white balls. )
(iii) fea mar 8= 3 T3 i< ot Ag=ar &t d=ait ?
What is the probability of getting a head in a toss of coin. ( )
14. foH& T9ATE! I993T HdaT 9 &9H UST HE'S & F4 | Fill in the blanks in following frequency
able. [0 bmwfn |wimewr| [iw| bewfs | o
l ALl D ; HHL THE 11 |£|
. ? 3 14
3 ML D : 1111 I;l
4 U a5 7 ]
15. faus earme wafant e ez gere iU
Draw a bar graph of the following data.
(1)

2 53 | 6=t |72 |82t o=y [10=t

ot 1051120 | 95 |100| 90 | 80
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WORKSHEET -4

y

(1)

(if)
(iii)
(iv)

(vi)
(vii)

A9®% AHIgTs
(Simple Equations)

Jat fext mitaeet & I8 a@d1/ Solve the following equations.

(1) x+5=9 (i) x-5=9 (i) x+5=-9 (iv) x=5=-9

(V) x+5=9 (V1) —x—-5=-9 (vi1) 3/ =42 (vii1) 4x =20

(1x) 10p =100 (x)3s=-12 (x1) 3x=0 (xi1) 20 =-10

(xiii) E)c =10 (xiv) —x = = (xv) ip = 2 QR et =20
2 2 4 2 3

(xvu) 4p—2=18 (xvi1) 3n+7=25 (xix) —2(x+3)=8 |(xx) l6=4+3(r+2)

& . 8 :
(xx1) 2y+5=— (xxit) 7m+12=13 (xxiit) %+3=2 (xx1v) 2?)b—5=3

Jot fag ot § miiageT f&9 &4 | Write equation of following statement.

x @ 3JETMT 11 7 A7 32 T The sum of 3 times x and 11 is 32

h € 6 IST M 3 @ WIJ T EdIET, 30 1 The difference of 6 times h and 3 is 30.

m = feq 9gvet 7 3 3 LT J1 One fourth of m exceeds 7 by 3

x fe9 sue@s I 12T JI By subtracting 8 from x we get 12.

x < g f3umet f&'9 5 93T '3 8 YUz € I By adding 5 to one third of x we get 8

x fe9 4 A== 3 -3 8% T1By adding x to 4 we get -3.

y T @9 6 A3 3 2 YUS I€7 J1By adding 6 to halfof y we get 2.
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ITBH - 1 &1 73d HE § I8N - 11 &t uuaa He &% B8 1/ Match the following.

oa™&H - 1/ column |

(1)

(i1)

(iii)
(iv)

v)

(Vi)

x+5=9

x— 7T =4
*
12

Sx=30

yETHSE H 3y =5 §AIHS Ad
The value of'y, which satisfy 3y=5

. 1 .
H p=2,3(1-3p) orm

1
It p=2, then. the value of 5(1 -3p )

d™®H - II/ Column 11

-5
(@) T3
(b) =
() 4
d 6
() 11
f) —60

Hold IdTg ¥ &< UTH §979d Je 3T J& @i e HE B9 |

If both sides of the weighing scale are equal then find the value of the following.

I
o0
i) Q90 i"’ﬂ@
|
fegiagaergag-
Weight of a pentagon=
(iii) .
14
(@] | ‘
I
T
(— de
LO0 L&
feggaoma emfegerag-

Weight of a circle and two rectangle=

fEg gag e 97d =

(i1) &@@

Weight of one cricle =

(1v) P
O {9‘
ﬁﬁ; | (00

g gqg I AHIH T 979 -

Weight of a circle and a rhombus=
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WORKSHEET - 5

1.

JUST NI =

(Lines And angles) HHS HI3=T

J&t fa3 fozat feg our, gur 43 w3 fags & ufggr= &d | Identify the line, ray & line
segment from the follwing.

(1) > (iD) (i)
Jot fe g fa3ef feg d< v &f w3 fimug f&d | Write the name of angles & vertices

A P M
M
B C T N

J&t fe3 fe3at fe9' faBe de, aHde, mifud de w3 faesan de & ufgge ad|
Identify right angle, obtuse angle, reflex angle & acute angle from the following figure.

@) (IL)\/‘ (i) / (iv) l/

WWW&%%@EW o<, rfaa d<, ﬁmwaa' fAeg &= »3 yas d< &t
ufge= Jd 1/ ldennfy acute angle, right angle, abtuse angle, reﬂex angle, zero angle and
complete angle from the follwing angles.

40°, 130°, 90°, 240°, 0°, 360°

Jot fe 3 feaa d yar dd 3T T feg Yo It &7 53T s A<

Complete the figure to make a pair of complementary angle. —>

Jot feg fe3aad yardg I fa feg Huga det er 3T ae A< |

Complete the figure to make a pair of supplementary angle.

Y

wny

Jotfesfasa feg L1l w3 L2 o de I8 A 54T | T 95 R |
In the figure given below, Check whether £1 and £2 are adjacent angle or not, Give
reason.

| i (11) ) (111) ; (1v) % :’

J&t fag fogat fe'g out §3 <t ufge™= &3 1 /Identify the linear pair from follwing figures.

(i) )(///’ (ﬁ)x//fyd//" (iif) r{//f (iv)
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9. dJotfegfozdfey L1 M3 £2 AT A Y &< 95 AT &4t |
Check that £1 and £ 2 are vertically opposite angles or not?

10. fegJefasgfeg o dat @ Ua A3 881/ Write five pairs of adjacent angles.
m__ (iv)
am___ v _

()
D

11. fagzafegxeys uzTad|/ Find the value of x.

(i) 130,
X

12. fegfogofegas o naufEg dad /|| m I M3 n ITe=T JuT J|

Find the relation between angles if / || m and n is transversal.

D) ZL W 28 i simouss (i LB WS LB vesemennss
(L3 M3 L4 oo, (iv) Z1MI3 L5
(V) L4WMI L5 o (V) L2 M3 £8 o

13. fo39fev /||m3J, n TR IMI £1=70° g IS UST |

If /|| m,n 1s transversal line and 1= 70° find the other angles.
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) faga »3 €A% a1 v
WORKSHEET - 6 _, 22 = = . AHS AS<
(The Triangles And Its Propertis)

AABC ¥ & 91d 33T (gaA= M3 dat) & 5™ f&d1 Name the six elements of A ABC

1.
A
gHT=T (Sides) :
B ¢ d< (Angles):
2. f&H/ Write:
(i) APOR < faug O €t AsH Y gAT J1In APOR opposite side of Q is
(i) A LMN T fAug LM T ASHY AT J1In A LMN angle opposite to LM is

3. Jofedf f3gwt @rgaei M3 det & mutd 3 Sddiidde dd |
Classify the figure on the basis of angles and sides.

L,
5.20 52
1hem, Scm Jem
: S T
C Q R M 7em N 5.2em

4. APQR fRY g QR HUfEg DI

Hdd 0D =3 AHJd= 3" DR = J=dr|

PM e J1 PD fea J

In APQOR , D is the mid point of QR Q T R
If QD=3cm, then DR= PMisa , PDis a

5. “fegmegudtde oAz feneWTds sy dsT e ns e s der gl
fen are € =93 d9w J¥ x TS U3TAJ| An exterior angle of A is equal to sum of two

opposite interior angles, use it to find the value of x.

(i)
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“fEgaeiedd =T e Az 180° JT J1” feA e S @93 TeC JE X THHE USTad |
Using the property that, The sum of interior angles of triangle is always 180°, find the value of

X.

(i1)

‘M gH! [IgA ST NS gH=T € HGH U dE ANTS JE J& 1 feH &1 S93 Jae J8Xx&TH S
U3T d4d | Using the property 'in isosceles tringle, the opposite angle of equal sides as equal’,

find the value of x.

100°
(ii)
X 40° X

UTfeaTgign JI€ € 993 ddv J¢ x T H & UITdd |/ Use Pythagoras rule to find x.
(1) 2 (it)

F 15m

12m

X

&t aEt mfadT f3gd Ag= J1/ Is any such triangle possible?

(i) AT € < ANSE 3 7/ Whose two angles are rightangle ()

(i) frmeedesfa8sad & Jd< ? / Whose two angles are acute. ()

(iii) AR f3& de 60° &€ d= ? / Whose all angles are of measure 60° ( )

(iv) fAme f3& d< 60° 3 wWe I ?/ When all angles are less than 60° ( )

Adt H&T®S &9 1/ Match the following.

(i) gA=T: 6,7 A, 8 A (a) Mfaa g1 f33+ / An obtuse triangle.

(i) FH=T: 9 A, 10 AH, 9 A (b) AHZHT {39+ / An equilateral triangle.

(ili) FHAET: 8 AH, 8 AH, 8 AN (c) faur g+t f3gH / Scalene triangle.

(iv) d&:35° 55° 90° (d) AH—E-g+1 f3g# / An isosceles triangle.
(v) d&:100°, 55° 25° (e) f8Q® = f3g+ / An acute angled triangle.

(vi) d<:30°, 70°, 80° (f) i d=t 33+ / Rigth angled triangle.
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(i)
(iii)

WORKSHEET - 7

————

(Congruence Of Triangles)

HHS A=l

Had & JUTHF ATEAH I& 3T @t dhut H9THT JEPHT TS|
If two line segment are congurent then their are equal.
Hadedard g979d d< 3T 87 ATSamH 9< 75 |
If the of two angles are equal, then they are congruent
HITIH3T &7 f9& T 1/ The sign of congruence is
Had9d ADEF = ABCA 9= 3t ABCA ¥ §9at gar & {8 fAug Is (sfumt @ Hag d=|
If ADEF = ABCA then write corresponding parts of ABCA .

() ZE=___  G(EF=__ (i) L=_ (v br-__
Y&t g gd—- (Fill in the blanks)
NS LES BT f3gHT AT gt 95|
Triangles of same and are congruent.

Jdd f3gw &t {3 m@r g I8

Each triangles has three an
AagamAH f3gw A =

C ongruent triangles A e= A m /@\
HII3 HIYITN d< : / Corresponding equal angles.

@ G

(wy avy
HIT3 AIYTMH ga™=T/ Corresponding equal sides.

(i) (ST (i (iv)

mmmm@m?mmw@wammwmaMI

In following figure using congruence rule, write your answer in symbolic form,

It I W S G P
® ;; g A ;
A C 4 B A A

Ex:- AABC = ARIW (bySAS rule) AABC = A (by
Ao L
D Q ; ) A ;;
B £ D
AABC = A (by ) AJKL. = A (by )
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FAT A ABC = A ABD TIA 8T 91 I ot feg st Aas 99|
If we are to show A ABC = A ABD then fill the following blanks.

UdT (Steps) drd< (Reason)
(iy BD= ( TJ9a 3 W)
(i) ZABD=./ABC ( )
(1)  AB= AR ( )
(iv) AABD=AABC ( HIHIMH3T f&TH MEH™d)
L B
O399 &9 4B M3 (D feagd & AHEd A3 Iae I&|
In the figure AB and CD bisect each other. C
AAOC M3 ABOD fev o~ #——Ip
Udr (Steps) d'd< (Reason)
() A40=__ ( CD,ABE EsTAZ FIet J )
(i) CO=OB ( ) -
(iii) ~£AOC=2/BOD ( )
(iv) AAOC=A ( HIHITAH 3T fT&TH MEH™)

At H&™S Jd 1 (Match the following)

A

(1) (@) ASA HIHIMHIT
ay [ 2 (b) RHS AIEImHIT
(iii) (¢) SSS HIHIHH3T

(iv) ~* (d) SAS HIHIHAHIT
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WORKSHEET - 8 o A H el AN HH™S AT
(Comparing Quantities)

1.  J& f&fumt & wgu3 U3t &d |/ Find the ratio of following numbers.

(i) 40 M3 56= (i) 32 M3 48 =
(iii) 10 fa Ht. M3 50 fa HY. = (iv) 52 AH M313 AH =
2. Jo fefunt € »Migut3 usTad |/ Find the ratio of following :
(i) 3 farMt. @7 300 Hiea & = (i) 80 IrH =T 8 fa HY. &7% =
(i) 6 HIZT ET 1S AH &7% = (iv) 3N €T 4 'S &8 =

3. J5 &Y nigu3t ¥ - 3® WaUT3 578 |/ Write two equivalent ratio of following ratios.

()2:3= (ii)5: 6= (i) 7: 9 =

4.  J6 f&UmMguUT3t € 3BT dd |/ Compare the following ratios.(>, =, <)

i) 5:6 4:7 (i) 9:10 11:7 (iii) 4:5 5:3
5.  JJ1ETd gTaT €T MGUTS M USTHS UST AT |/ Find the ratio & percentage of shaded ratios.
(1) (1) —=— (111)

6. J5 faxtut faat RIEil:ES fe9 988 1/ Convert following fractions into percentage.

5
o - sive B o
(l)u /8._ N . « _n o El]u? 4 _‘...,_ (11]) AO —
7. fa gt gt emHm< & UIMHI €9 528 |/ Convert given of decimals to percentage.
(1) 0.75 (i1) 3.2 (111) 0.02
8. fe2 are yStH3aT § erHs< f€9 928 1/ Convert following percentage into decimals.
(1) 25% (i1) 150% (iii) 0.09%

9. fe3ar yImat§ fIat i< aed w3 €39 § Aos gu fev fad
convert given percentage into fractions and write the answer 1n the simplest form.
(1) 90% (ii) 125% (ii)  250%

10. HAIS A% HYE, A3d M3 g &7% gdt fed eadt J | Had §&F €9 50% Ag w3 20% H3d 95
3t urgt @ UFW3 faaT I ? Sohan has a basket full of apples, oranges and mangoes. If there

are 50% mangoes and 20% oranges then find the % of mangoes?
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11.

1Z.

13,

14.

13

UITEd (Find): (i) 200 ©7 15% (15% of 200) (i1)1500 &T 20% (20% of 1500)

fea ng® f<9 g% 250 fefenmaat 951 fam fe9 40u% Al g3t &t 31 Afawt €t
fare3T U3T A IIn a school there are 250 students. Out of which 40% are girls. Find the

number of boys.

25 3FG A f&9 13 yog 75| At IFG At S UFWS USTAI | 13 out of 25 radio sets
are defective. Find the percentage of non-defective radios.

JUT 10000, 7% ATSTET €9 &% Ayt 13 A 96 ,fea ire gmie fadaT femm yruz 3<am?
Rs. 10,000 are deposited at 7% per annum, find the interest after one year.

JUT 6050, 6.5% ATSTET 99 &'% BUTd & HiY I8, 3 A& gid fads Aryds femma aar
J=ar"| Rs. 6050 are borrowed at 6.5% per annum, find the simple interest after 3 years.
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WORKSHEET -9 ufoHTT Hftmr= AH3 AS<ST

(Rational Numbers)

1. J& fefnt f&F faast yfa=za Afumim I ? /Which of the following is a natural number?

i) 4 (i) o Gii) -1 (iv) %

2.  Jo fafint f&9 faos yas wa &9t T ?/ Which of the following is not a whole number?
i o (i) 4 (i) 10 Gv) —4

3. U ey &9 faust fugs Afumm a4t G 7/ Which of the following is not an integer ?
i) o G) -1 (i) 1 (iv) %

4. Y&t g7=t gd'1/ Fill in the blanks.

4 20 13 -4 16
1 7 28 w7 14 35
5. & fefuut &9 faagt ufade Afwdm 53t & 7/ Which of the following is not a rational
6 i
number? (i) 7 (i) = (i) -1 (iv) 0
_35 n w — i _35 5 o
6. 30 & fipddt gu fe'g f&H 1 / Write ET standard form.
7. (i) -3 M3 -2 &9 fda8t AUds Afd™=T &7 How many integers are there between -3 and -2
(i) 3 M3 4 f&9 faatdt Ayds Afy™=T I& ? How many integers are there between 3 and 4
8. fausm i @37 w3 fagzwiad ¢ d ? /Which number is greater and which is smaller?
® 5 0 s R
-4 o L —4
9. 7 T 93734 ©F T T H |/ Find additive inverse of T
10. M&UITddI/Find the value
. =T 8 § Sx[_3J o 15
—_— _ == —_ _— | = —ae o
W3 g \5) W gxg=

e F . — | 2
11. mf&gP?Qeﬁgﬁ.rﬁ.ETgﬂmgfﬁgQ?fagRaﬂgﬁ.}-ﬁ.@rgﬂBﬁrWUl
g8 e PFQMI QI RII TS [dal gdl I adeTJ ?
4 1
Rahul covers a distance of 3 k.mfrom P to Q and 3 k.m from Q to R. Find the total distance

covered by Rahul. . Q Sol
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12.

13.

14.

15.

16.

L.

18.

19

=, 4 n = - . ] -
Had S feAd I 3IHA BB s B IS 13T dA= 3Tl @ 3T mr=ar ?

4
Find the product of 3 and its multiplicative inverse.

Malgr fea mMfegaauaa e o8 AT B, B C,C3DWI DI A ST ATadat J, O
TS & o T Ao oiat e AB = - foraft. e BC =2 it 31
Anita walk around a rectangular park fromAto B, Bto C, Cto D and D to
A. Find the total walk done by Anita if 4B =% and BC :2 %km

zkm
3

— 4 9T A33HT B aT T ? / What is additive inverse of -4

5 _4-3 -2 -1 0 1 2 3 4 5 6

J6 f&fipdt @ greaHa €% f8H 1/ Find the multiplicative inverse of the following.
R E} T | 6

0 — (i) (i) -

I& dd |/ Solve.

(1) 1—; F (1—3) (11) _?6 T % (111) 1—77 5 [S—f)

U M3 Wee g f&9 {881/ Write in ascending and descending order.
3 —4 -1 2 -2 4 _3 -3 _4

O 335 @ 5y @

fga=T 37T ?/ Which is greater?

2 _3% ._31 " -3 _. 2 ... —4 __ 16
(1) . H =3 5 (11) 2 Hr 3 (111) 5 Hr Y

H& U3T dd |/ Find the value.

2 -3 3 (-4
@ (43 (i) 2 (i) §+(gj
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WORKSHEET - 10 yuifae Jur aifes I

(Practical Geometry)

1. Jo& fedbyt Sgvgt @ 3u §3 575 | / Draw a line segment of the following lengths.
(i) 5.57M (ii)6 AM

2. feaddurds MN =48 miaag,fem 3
sAaHEt gdl I AfEs fea fag 3 fea
AHT3d dU™ 7G|/ Draw a line segment
MN = 4.8 and draw a parallel line from a
point which 1s at distance of 5 cm from

this line.

3. ffaauas vZ =40 5aG, fen
Sua Afaz fea fig 3 sg qur g= G|
Draw a line segement YZ = 4.0cm, draw

a perpendicular from a point situated on YZ.

4.  Yya'd &l AITfE3T 878 d& &S |/ Draw the angle with the help of compass.
Q) 60° (i) 45° (iii) 30°

5. d& WAt AgTE3T 5% dE 976 | /Draw the angle with the help of protractor.
(i) 70° (i1) 100° (iii) 50°
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10.

feq f3gw <t g9&T a9 fam &bt
gH=T 6 AH, 4 AN % 5 AN I& |
Construct a triangle whose sides are

6¢m, 4cm and Scm.

AABC &t 3gaTad fanfeg

AB =5, AC=3 M3
ZBAC =90° d=1/ Construct

a triangle ABC in which 45 =35 c¢m,
AC =3¢cmand £ZBAC =90°

fed AHd g+t f3gw ot agaTad

R &t 99 AHTS gaT &f sgret

4 AH 9= v fegst & fegaaaT

I 90° @7 J= | Construct an isosceles
triangle where equal sides are each

4 ¢cm and the angle between them 1s 90°

AABC &t 395 ad fAanfeg
ZA=60°/B=30°mI
AB =58 AHJ<|/Draw a

A ABC inwhich £ 4=60° 2B =30°

and AB =5.8¢m.

ADEF & d99&7dd,dad L' =4.2 A,
ZE=110° %3 £F =30° 321/ Draw a
ADEL inwhich EF =42 cm, £ 15 =110°
and £ F =30°
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WORKSHEET - 11 |Ian 018 H39en TS A3<T
(Perimeter And Area)

1. HHT3d 93d9+ €T 43de® U3 dd | / Find the area of parallelogram.

(1)
(iii) (iv)
H3de® =
Area = Area =
2. f3ga e u33eBF U=Tad 1 / Find the area triangle.
(i)
(iii)
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3. T od ©T Y=Ide® U3T &g | / Find the area of circle.

(i) (i) U (i)

nay ferm = g fommm = MU form =

Radius = Radius = Radius =
HIde® = HJded = HIdeH =
Area = Area = Area =

4. H34d &1 Write the formula.
wrigdt @r &t (Name of figure)  UfgH™U / WdT (Perimeter) U3deS (Area)
(i)  we3 (Rectangle)
(11)  =4ddr (Square)
(iii) AHT3II I3IFH (Parallelogrma)
(iv) f33% (Triangle)
(v) 9dd (Circle)
5. AHT3T 93IIH T HIISB UIT AT |/ F5 g =

Find the area of'the parallelogram. Base=
MEATI fAUT® Y =
Corresponding Height =
y3des =
55 em Area =

6. fagaerUgdems UaTag| .
5 I% . WUd =

Base =
nSHTAT fAug®y =
Corresponding Height =
U3des =
Area =

Find the area of triangle

h

o

7.  EfedTdI 9T ET H3des BT Rt AETS I4 |
Fill in the blanks to find area of the shaded region.

D 1 N C

(ii) ~ IATSMT TT U39SH (Area of roads)

= -+ —
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WORKSHEET - 12 wEHEIES fenina 743 o<t

(Algebraic Expressions)

1. J&f fa3 foaat &9 8T ue &9 7 9% &Jt I& | Find the terms which are not constant.
xy+4,13—y°,13-5y°, 4p°qg—3pg’ +5
2. Jo o3 foima (@9 v ue %9 fAua 9% &d1 I | Find the terms which are not constant.

=3 1+x+2%", —4x+5, %x+%, pg+5

3. J& o3 forma f@9 Guue us< fagt feg x J 3 feg fegt feg x eraeia fod|
Find the terms containing x 1n it and then find co-efficient of x.
(i) yx+yp (i1) 13p% —8yx
(i) x+y+2 (iv) 54+ z4zx

4. Jsfe3foima feg uueuss fagifag )’ I 3feafegt fg )’ eraeia fal

Find the terms containing ¥* in it and then find co-efficient of ¥°

() 8-xn° (i) 5y°+7x
(i) 2%’y —15xp" +7y° (iv)  T+xy’
5. Jo 3y format € 9% yet € Aftmmava gieia fad|
Write the numerical co-efficient of the terms containing variables in following experssions.
(i)  Sxv—4 (i) 18-° (iii) 4pg-5p
(iv) 4x—3y v) 2z-y (vi) 7x*-y
(vi) %xs (viii) Tx+5 (%) yz+5

6. Jofedfemmat§ feaudl,d udl I 3s uet e gufea 3|

Distribute the following in monomial, binomial and trinomial.

(1) 4y—Tz (1) };2 (i) x+y-—xy
(iv) 70 (v) ab—a-b (vi) 7—5¢
(vit)  7xy (viii) z'+z

7. J& fefant fe9 s uet & ug'= a4 1/ Identify like terms in the following.

-5
i 1,100 i) —7x—-x (i)  4x?, 3x

(iv) —12xz, 4x°Z° (v) dm* p, dmp® (vi) 14xp, 42 yx
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10.

11.

12.

L3,

J6 eIt I8 3T (S5 98, s, W3 Ma difle 3d fafanr=T &7 y&ar ga J<, did afesd
fefme Uuz 91/ Get the algebraic expressins in the following cases using variables, constants
and arithmetic operations.

(i) Afeerm 3 255 2 & we™@<T1/ Subtract z from y

(ii) HfteT x fe9 y & H3871/ Add y in x.

(iii) Aftpnm - € f3a1@ f& x § We™S=T1/ Subtract x from thrice of z.

(iv) T x 3 y € 93 €7 »iUT1/ Half of sum of x and .

(v) AftpuT z @7 @ f3972 1/ Two third of z.
A3 U3TJJ |/ Find the sum.
(i) 2a,—3a (ii) 6x, 1 Lx

(111) 3mn, —Smn, —8mn (v) Sm—Tn,3n—4m+2,2m—-5n+6

we™g : / Subtract

(i) —6xy f&%F 3xy (i) 7z° f&9" 82’
3xy from —6xy —8z% from 7z°

(iii) 5x 10 f&< 9x+10 (iv) 4m’ —4n+8 f&<5 2m* —6n—9
9x +10 from 5x—10 2m* —6n—9 from 4m’ —4n+8

76 fay feiaat @ ys x =2 € 8t u3aTad |/ Find the value of following expression for
X =2 (1) x+4 (i) 2x+5 (i) 4x—-3

Hdd m=-3, 3T J& (ST TS U3Tad 1/ If m =3, then find the value of the following.

(1) m—=5 (i1) 3m+5 (i11) 9-5m (1v) T—al

Had a=23 h=-43< I Jo i eysUsTadl/If a=2 and b= -4 then find the
value of the following. (1) 2a+h (1) 5a-b
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WS I WS v
(Exponents And Powers)

WORKSHEET - 13 AHS AT

1.  J5 (8funt f&9 wmurg w3 wig wid & Ue'e |/ Identifly the base and the powers.

MUTd (Base) W3 M (Power) "UTd (Base) W3 %d (Power)
(a) 10™ (¢) 9"
(b) 72 - (d) 2'®
2. H'& U3Tdd |/ Find the value.
@ 10° (b) 17 (c) 5
3. J& fafumt & w3 Wiat gu fE9 {88 |/ Write in exponential form.
(@) 121=11x11= (b) 64=4xdxd=
(e Ada=2Irnlza= (d) 27b=3x3x3xb=__

4. "It (>, <, =) 1%?'3_ ®Irg | / Make with right sign (>,<,=

(a) 3° 15 (b) 2° 3’ (c) 10000 10° (d) 7¢ 5

5. 3o fefumt f&9 fag=s aas Adt @ ? / Which of following is right.

(@ 3*>2° (b) 42 =2f () 3°=9 [  Fas
6. ™®&ad1/Match the following.

(a) a”xa" a™

(b) a"+a" (ab)”

(c) (a™)" a™

(d)  g"xp” 1

(&  a" b e

a m
(O a® (E)

7. (1°+2°+3°) YTH® J=dI" |/ What is the value 0f(1°+2°+3°)

(@ o© (b) 1 () 3 (d 6
8. x* +x” ggrgd d=arl / x" +x” will be equal to
(@ X' (b) x° () x° d x°

9. [(3)4]3 Wﬁé@l/[@f]} will be equal to

(@) 3 (b) 3¢ () 3% (d 3
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10.

L1.

12.

13.

14.

15,

l6.

L7

J& f8fu™ @7 W& U3T &91/ Find the value of the following.

@ (1) = ® (1) =
(x5 +y5) g9THd J<dI| (xs +y5) will be equal to
@) (x+y) (b) (x+y)

22 +2°+2°+2° =

(a) 2° (b)
2°=8" IS ST AkETHBUITII| /2° =8 them find the value of k
(@ 3 (b)
AfandT 12345 7 fipdtdt gud=am - / Write 12345 in standard form.

(@) 123.45x10'

12 &4 €7 fHtdt gu d=ar- / The standard form of 12 crore will be

(c) 1.2x10°

5e 3P 5 P

(a) 5

(@) 12x107

Hd® dd Solve.

. 2! 28

(1) 27 %25 % 2°
27°

(ii) 9—8><33

6 3% 9% x 3"

R T I

G 5'%x25* %5

) 125°

(b) 1234.5%10°
340900000 =3.409x10"

(b) 12x10°

Sol.

Sol.

Sol.

(©) (x+y) @ (x+y)"

(€) 1.2345%10°

(d) 12x107

(d) 1.2345x10*
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WORKSHEET - 14 A "
(Symmetry)

T T e e S ——

Draw the line of symmetry of the following figures.

(1) (i1) M (iii) A (iv)

2. fea 3y iz <t fdatt i3t aur=t It 95 i3 faodtert ?

How many line of symmetry are there in a line segment and which is that?

3.  AHegH! f3gd &t M3t au=t ER1/
Draw the line of symmetry of the isosceles triangle. A

B L&

4. et migH faga & St gyt Tane W3 Gast X
ot fare3T @7 | Draw line of symmetry of the equilateral

triangle and also find number of such lines.

5. o3t aHT39 9399+ € AMHST du=T @9/ g |
Show the line of symmetry of the parallelogram

6. fe 3t nirfea €t AMfHST duTet Ear &

Show the line symmetry of the rectangle.

7. o3t megaga 9 mfiHat syt eanre
Show the line of symmetry of the rhombus.

8. o3t =gar<t mfuat Ju=t =9 &

Show the line of symmetry of the square.

9. TEFtuar<t mifu3t ouet gan G|
Show the line of symmetry of the kite.
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10.

11.

12.

13.

14.

15.

16.

1¥.

18.

fe'g milmgHT =t fdatw mIHST dur=t It &7

How many lines of symmetry does a regular pentagon has?.

How many lines of symmetry does a circle has?

»yd A, D 3 E &t fastut mifuat Jur=t et 357

How many lines of symmetry do A, D and E have?

wyd H,U, V3 X ot fdatt mifudt quret daht 957
How many lines of symmetry do H, U, V and X have?

WHyd S F N &1 faa it AHTHST duret Jatmt g&?

How many lines of symmetry do S and N have?

J& fe 3 fa'zat feg goa &, 7 aufiat duret ow, Gust &t ufggr= ad|

Identify the lines of symmetry of the following figures, if there is any.
’

J& fe3 fe'3at & uHe AMH3T €7 g ©H |/ Find the order of the rotational symmetry.

(a) X (b) >< (c) A (d) ﬁ

I& @ wiarat & die mifuat 3 7 &, 7 9 3T uhvie mifuat o i fsd

Find whether there is rotational symmetry of the following, if yes then write its order.

(a) =ddT (Square) (b) M (Rectangle)

(¢c) AIf9399H (Rhombus) (d) AHgHT {389 (Equilateral Triangle)

fam fo'ga & €n € dea € 2@ 60° € < Sug wn e I B nmifea nfgst =gar fayret
feer 31 fen fo'39 © et mifag 39 faux d=t Bt 1 wifaor I AaeT 31 By rotating 60° from
the centre a figure reaches its origional position. At what other angles will this happen for the

(a) (b)

figure?
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on foza = fisas
(Visualising Solid Shapes)

1. MATIT ©T &H 578 THB™E &d |/ Match the figures with their names.

() WETE (Cuboid)

(i1) fA®39 (Cylinder)
(i1i) W (Cube)

(1v) JIBT (Sphere)

(v) fuariz (Pyramid)
(vi) A (Cone)

2. Jotfa3 fazar < g, esa w3 faatfant ot fare3t a1

Write the number of vertices, faces and edges of the following figures.
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(1)

(ii) (111)

o fesfarAs I AT WS ST HEE 7 ?

From which of'the following net you can make a cube.

(1)

(ii) (ii1)

78T & AJt 3° 578 TH&™S 1/ Match the nets to the figures.

(a)

(b)

(c)

(d)

(1)

(i1)

(i)

(ii)

(1)

(i1)

(iii) Q O
(iv) v

HHIS g3t & fad UAd e 9& 7

How many dimensions are there in a plane figure?

SH wrigItt & fds uArg Je 9& ?

How many dimensions are there in a solid figure?

3% M3t &t Gergast feG
Give examples of plane figures.
SH w3t St Gergast feGl

Give examples of solid figures.
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Worksheet-16 Class Vii unit test 1
niftmife : Hugs Aftmi=t (Integers), niafami® ¥ ygus (Data handling), f§&t »i3 Tmve=

1)

2)

3)

4)

5)

6)

7)

8)

9)

(Fractions and Decimals)
Jo st Aftmr Jur '3 e A 3 Aftmr § wor foor 37
Which of the following integer is being represented by point A on the given number line?

e > =
: BCDEIITGHIJKLMNO

1 1 1 1 1 1 1 1 1 1 1 1 1 1 Y
- T T T T T T T T T T T T T T *

—3-2

a)1l b) -7 c)0 d)-1

3+2=2+3f39 Iz ot &5 fagz o TaATfenr famr T 2

In3+2=2+3, which of the following property is represented?

a) AYTs Aftel € A3 T g1 IEd J& Addition is commutative for integers

b) ﬁ'lﬁl?'? Aftmiet @ 73 @ AfgggsT dIT Addition is Associative for Integers

) FTEHF Aftmiet € 73 T S337d! I Addition is Distributive for Integers

d) FT?;IEH Aftmiet € 93 T g€ I Integers are closed under addition

et Aftmr o § 2v 7 U &3 fx Jof fefanr 8" fam & Hs Ag 3 famfrer d=am?

By observing the given number line, find which of the following will have

the maximum value?

a) atb b) b-a c)ab d) a/b

-
Om

I fefimrt f25° faos™ S@a I3 T? Which of the following statement is false?
a) -7+(-6) =-13 b) -5+1=4 c) 2+(-1)=1 d) 8+(-9)=-1

89 Hygs Aftm faReT -1 7% JE6e® -40 I2: The integer whose product with -1 is -40:

Tmm

a) -20 b) 20 c) 40 d) -40
5 fefimrt 28" fags™ s@a @3 T? Which of the following statement is false?
a) -7+(-6) =-13 b) -5+1=4 c) 2+(-1)=1 d) 8+(-9)=-1
Jo fsftmit &5 faagnit € Hftmret @ 53 -5 I? Which of the following pair of integers has its sum -5?
a) 10, -5 b) -10, -5 c)-10, 5 d) 10,5
%%%w@eﬁgm%ﬁﬂg?mw%mm? From the given graph, find o
the day on which maximum number of students were present in the class? %%Tmm
a) FHE™d (Monday) b) §UST (Wednesday) i —
¢) f19=3(Thursday) d) 7&I=™ (Saturday) i E

| w59 § eom@erdn |
e 39 9 6 a9 6 st '3 1 3 6 3 Aftre’ fgdntt 951 nfesx o€ A 3

n

e

AftmT 6 % 98 YU3 IT ©F Ag<aT off 9<d
There are 6 cards in a box on which numbers 1 to 6 are written. What will be the
probability of choosing a card having number 6 on it?

a) 10, -5 b) -10, -5 ¢)-10, 5 d) 10, 5
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10) f&x mfog feo fai ge3 T 7 foat fT9 It =our fHA. feT JI5 o8 nieA9 &% faads i3t aret :

The rainfall (in mm) in a city during 7 days of a certain week was recorded as follows:

= o = = = = =

f@ﬁ( Day) HH<d HJI®»<Td HH<d HH<™J HH<d HH<™J HH<d
v (Monday) | (Tuesday) | (Wednesday) | (Thursday) | (Friday) | (Saturday) | (Sunday)
<Jdr
(Rz—l{n);‘zll) 0.0 12.2 2.10 0.0 20.5 5.5 1.0
(in mm)
i) &3 viafant nigrTg <oy <t fegms AT 3 According to the given data, the range of rainfall is:
a) 20.5mm b) 19.5mm c) 8.3mm d) 18.4mm
i) A 3 fanmer T9uT fam fea JET? On which day, the highest rainfall was recorded?
a) FHE™ (Monday) b) HI®=<TT (Tuesday) ¢) HII<'9 ( Friday) d) gu=g (Wednesday)

i) fem ge3 39 foa fos =9ur HuHs =our 3 ufe I
During this week how many days had rainfall less than the average(Mean) rainfall?
a)2 b) 3 c)4 d) 5
11) Jo f&ftmit 9" faozT T AgeT I U9 forfos Ju <9 adt :
Which of the following events can happen but n_ot certainly?
() HIA T YJE IH foawar| (The Sun rises from the East)
(ii) N formg € 2re &9 20 f&9° 20 »ix YrU3 19T | (I shall score 20 out of 20 in Mathematics test)
(i) fer 7® Nt BT fues s 32U J1( This year my age is greater than my previous year's age )
(iv) A mmAHS f*9 dT% I, fer st gfar Jeatt | ( It will rain today because there are clouds in the sky )

12 Js &8 qst f29° fqa3™ a8a At I? Which of the following statement is true?

a) HuH® &3 a8 wigfani &5 ormr f¥x Aftmim J€t I 1 Mean is always one of the values of the given data.
b) IISX &3 T niafantt f&g" gHm fex Afanr gt J I Mode is always one of the values of the given data.
¢) Hfgar &3 aE nigfan &8 one ffa Afunr J<t J | Median is always one of the values of the given data.
d) BSudas & A= &It I None of these.

13) dter »i3 9% fEx &t a3 €9 ugehnit I5 1 Bast enfar 3 fefimrt € »ig I &9 nigA™g I6 | Reeta and

Renu studies in the same class. Her marks in 3 subjects are as follows.

A9t wigAS faasT A J 1 Which of the following is correct: é é ; s e afes
N .. a N o0~ . 0« Se v . . (maths)
a) dier T niEs YUz wid I8 € WA3 U3 viat 32U 75 | (Physics) | (Chemistry)
= der(Reeta) | 78 76 74
The average marks of Reeta are more than the average marks of Renu. =
35 (Renu) | 72 82 74

b) dter T WAz yus »ix 3§ © MRS yus vidt 37 ue I5|
The average marks of Reeta are less than the average marks of Renu.

) den3 €l§° T VA3 Nid 99799 Ia | The average marks of Reeta are equal to the average marks of Renu.

d) A3 wigh @ 3BT adT° A= AT ALt J | The average marks can't be compared.

14) NS T 15 fefenragnt T 379 Is &8 nigAg I& | feast &t guox i3 Hitsr © Adt feasy &t 9 a9 |
Weight of 15 children of a class is given below.Choose the correct option for their mode and median:
38,42,35,37,45,50,32,43,43,40,36,38,44,38,45.

a) 38,40 b) 40,38 c) 32,50 d) 50,32

15) Ja feshort f&5° 78 3° <3t At 93 : Which of the following number is the greatest?
a) 0.07x 10 b) 0.7x100 c) 0.07x100 d) 0.7x1

TWS-16



Worksheet-17 Class VII unit test 2

niftrfe : I T 3B&T (Compairing quantities), Simple equation (AS® AHIATE), Ju=f mi3 &= (Lines

1)

2)

3)

4)

5)

6)

7)

9)

10)

11)

12

13)

and angles), UfdHGr FAftmrr=t (Rational numbers)
IHT 3 5 fadarH wige »i3 IIH 3B 100 IH »IIT T6 185" IH »igrat & HSTT T gy ot Jear?
Rma has 5 kg grapes and Harish has 100 g grapes. What will be the ratio of quantities of grapes they have?
a)1:5 b)5:1 c)1:50 d)50:1
TSI NS PIUST PTHES T 60% Y99 &9 of 600 J. I97 T J, 37 BAE! oo niHes J<di:
If Ashok saves Rs.600 after spending 60% of his total salary, then his total salary will be?
a) Rs. 1500 b) Rs. 1000 c) Rs. 1200 d) Rs. 1800
g fox filz € AsAfET 25,000 J, 3T 20% IUT I& 3° T AGHIEMT J2dit: If the population of a village
is 25,000, then after 20% increase its population will be:
a) 20,000 b) 27,000 c) 30,000 d) 35,000
o9 fam "t 27 75% ,75 29 Afgnr A< 37 &30 &8 8 Hftmr yuzs I I 1Rt U3 92 If 75%
of a number is added to 75 then same number is obtained as a result. Find the number.
a) 50 b) 60 c) 300 d) 400
o9 fan IH T 5% YStH3 ASST ©9 3 3 A% ©F AUGS fenfd 75 qUT JeT J, 3t 89 ITH J=dtt: Ifona
certain sum the interest paid after 3 years is Rs. 75 at 5% rate of interest per annum, then sum will be:
a) Rs.550 b) Rs.500 c) Rs.530 d) Rs.520
e fqae g& 800 7. &9 udifent »i3 1600 7. f*9 Ifonr fomr 3t &35 ySias J:
A cricket bat was purchased for Rs.800 and was sold for Rs.1600 ,then profit percent is:

a) 100% b) 64% c) 50% d) 60%

1 fiie, 1 fes = fd& YStH3 T? What per cent of 1 day is 1 minute?
1 1 5 5

a) Taa0 " b) 247 c) 7z% d) Taz0 %

& AH3 T 32 fefonrget viget fen ff9 R 95 fog A3 ¥ g fefonmaghnt T 80% J, 37 A f&g
& fefenragnt <t At J=4dM: In aclass 32 students have passed in English examination. If this percentage is
80% of the total students, then total number of the students will be:

a) 50 b) 40 c) 35 d) 30
87 faast Aftmr I ﬁD:@n sfRgAzs 3 12 YUz JeT I 7Find the number which when added to 5 gives 12 ?
a)7 b) 8 c)9 d) 10

o9 foar At &9 8re f3ae 736 3 48 yus Jer J 3t Aftnr JI4t:

Sum of a number and its thrice is 48, then number will be:

a) 16 b) 12 c) 30 d) 18
ﬁa"c’s—;:6 J< 37 x T H® I The value ofxin‘%X:6 is:

a) o b) + 0) 15 d) &

FST x-5=9 J< 3T x @ H& I The value of x - 5 = 9 will be:

a)4 b) 14 c)-4 d)-14
3n-2=46 J2 3T n T U I The value of & in3n-2 =46 will be:
a) 16 b) 15 c) 24 d) 26
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14) 39 & fasmg = 2/3 391 uger J187 Tuer J fa 100 U8 »m & vt I5 | fasmg fEo 95 38 U8 51
Raju reads 2/3 of a book. He finds that there are still 100 pages left. What is the total number of pages in the
book:

a) 100 b) 200 ¢) 300 d) fegst f&8° I &1 (None of these)

~

15) THY I% IfI3 3% 3 9 feT I | Ad9 Ta' o 3B 95 8¢ I& 3T Y J& fos g Jdr
Daleep has 3 more marbles than Rohit .If both have 95 marbles then number of marbles Daleep will have?

a) 45 b) 46 c) 47 d) 40

?

16) Hd9d € BI3F Hitmite! @ 73e®% 71 I, &% Aftmr x I 3T gzt AHidgE ot d=4ft?
If the sum of two consecutive numbers is 71 and one number is x, then the equation so formed is:
a)x+(x+1) =71 b)x+(x+2)=71 c)x+x=71 d)fegst &5 I 1" (none of these)
17) Js &3 det f&9° nifux d= g

Which is the pair of corresponding angles in the given figure ?
A E J
o ¢ ’ H i K .

D
(a) (b) () (d)

18) &3 fg39 8 Hearz df & A3 fagzm I7 - SR
Which is the pair of corresponding angles in the given figure ? =¥
. Une S . ":}"""'f —
a)/1,/8 b) £ 1,/5 0)/3,/5 d) feast f&5° It &t (none of these)  *

19) T YIX A fe9a9 ni3T 12°J, q& ¥ HY I The difference between the measures of two
complementary angles is 12° . measures of the angles will be:

a) 60°, 30° b) 39°, 51° c)42°,30° d) 72°, 60°
20) 7o fEq dE »MUE YI AT T EaE IT 3T AT T HY I
If an angle is double of its complementary angle, then measurement of that angle will be:

a) 60° b) 45° c) 75° d) 50°

21) 79 PQR f¥q AI® U™ I, 3t x T HS o I=dr?
If PQR is a straight line, then what will be the value of x ? s 120° T
a) 20° b) 25° ¢) 15° d) 30° . = e >

22) TSI AB||CD n3 XY &K qre<t Jur I 37 I fofimit fog” fxaz s@s a3 32
In the figure, AB||CD and XY is the transversal. Which of the following statement is incorrect ?

a)p = 115’ b)q = 115 c)q =65 d)q=115" A “"S\ﬁp 8
23) #ET JE (2a-10)0 M3 (a-11)0 YIF J&' € A3 I& 3t 'a’ T HS o Jar? € qr\\, °
If the angles(2a-10) 0 and (a-11) 0 are complmentary, then what is the value of ‘a’ ?
a)37° b) 27° ) 17° d) 7°
24) Jo foftmrt 29 faast ufarw Bfam a3 T2 Which of the following is not a rational number?
a)6 b) % c)-2 d) 5/0
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Worksheet-18 Class Vii unit test 3
niftorfe : f3g7 w3 feA"Y T= (Triangles and its properities), WBWEIET feniAd ( Algebraic expression), W™

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

g W3 w3 (Exponent and Powers), YW fimf it (Practical Geometery)
o3 fg39 9 AXYZ niftx 3&t f337 I, YL fer <9 ot @97 fgor  I? Whatis YL ¥

representing, in the given obtuse angled XYZ ?

a) Hfgam ( Median) b) A& AHESHA(Angle bisector)

o) frag Y3 A o fugsga @ Y;E_g!ﬁ 31 T (Altitude of from vertex Y lying in the interior of A . :
d)frug v 3 A = fAUIBT A © g9t a1 fR9( Altitude of from vertex Y lying in the exterior of A

Hog fam AHGE f337 ABC f@9 £ B =90° W3 AB=6 AM, BC = 8 AN 3 AC T H& J=dm: Ifin a right-angled
A ABC, £ B =90° If BC=6 cm and BC = 8 cm, then the length of AC will be:

a) 12 AH(cm) b) 10 AH(cm) c) 9 AH(cm) d) 11 AH(cm)
A ABCTST: In A ABC
a) AB+BC >AC b) AB+BC < AC c) AB+AC BC d) AC+BC< AB

o9 fan f337 T dF &9 2:3:4 T »igu3 I 37 o @ vy J:
If the three angles of a triangle are in the ratio 2 : 3 : 4, then the three angles are:
a) 20°, 60°, 100°  b) 40°, 60°, 80° c) 40°, 50°, 90° d)50°, 60°, 70°

o9 far f3sa T ffx aT 74°T7 I »i3 gt © J& 999 I6, 3T 9989 A& ©F MY J=d: If one of the
angles of a triangle is 74° and the other two angles are equal, then the measure of each equal angle is:
a) 58° b) 100° c)53° d)116°
Hog fan f337 ABC ST o= A i3 o B © WU 35° mi3 55° J, 3t Jo fsftmit 9" faos™ ams Adt 9:
If ZA and ZB of a triangle ABC are 35° and 55°, then which of the following is true:
a) AB’ + BC* = AC? b) AC* + BC® = AB?

c) AB’ + AC* = BC® d) fegst f&9° =T adt(None of these)
fe3 939 RT Lx i3 Ly T gHIT H:
The measure of Zx and Zy in the given figure are respectively: {
a)30°, 60° b) 40°, 40° c) 70°,70° d) 70°, 60° _—

o3 fg39 T 337 DEF f¥a AHaet f3ae T fam 9 ZE=90". %QH%MESEADW@LF

fom 397 T JEJT? In given figure triangle DEF is a right angled triangle with E=90°. What type of angles are
ZD and £F? D
a) ©& g999 J&di(Equal angles.) b)®dIR” G&t @ A3 (Pair of adjacent angles.) i

YId = (Complementary angles.) d)ﬁ'g‘ds( &E(Supplementary angles.) \

2x’y-15xy*+7y" f&x ...
2x’y-15xy’+7y’is a algebraic expression.

a) '€ U=t (Monomial) b) € UET (Binomial) c) 35 U=t (Trinomial) d) 979 U=t (Quadrinomial)

& nifez & Baet, 938 &% 3 U J, vad 9T x < 3T FIret fAat Jean?

In a rectangle, length is 3 more than its breadth. If breadth is 'x' then find its length .

a) 3x b) x-3 c) x+3 d) x/3

ateH T fusT 7 & 81y, StoH & 81T T 35 a7 3 5 s fimmer J1 A9 ateH ©t 81T x A® 99 3F
Sre fuzT &t 8Ha ?5 J5 fou far fenfax Idt TaATenT A7 AT I 2 The age of Neelam's father is 5 years

more than thrice of her age. If Neelam's age is x years then how will you express his father's age in algebraic form?
a) 3x+5 b) (x-5)/3 ¢) 3(x+5) d) 5-5
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12)

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

25)

26)

27)

x=1 Bt 5x* - 3x* + 2x™ = H& J: For x=1 value of 5x*° - 3x* + 2x ™ is:

a)o b) 2 c)4 d) fegst f&8° I &It (None of these)
7x—xy +5y—17 &9 5x—3xy +2y-113 we® w3 €37 g |

Subtract 5x — 3xy + 2y — 11 from7x —xy + 5y — 17 and choose the answer:

a)o b) 2x + 2xy + 3y-6 c)2x—2xy -6 d)3x+xy—y+3

X' =y, V' -7 W3 7 - X € A3e% U3T a9 | Find sum of X —y’, v’ — 2’ and Z*— X’
a)0 b) 2(x* +y* +7°) c) 2(z° - x) d) 2(x’ —y?)

fex a9 & a3t 55 faftader Ty e &9 3 A5t gt JI
The speed of car is 55 km/hrs. The distance covered in y hours is

a) 55y b) 55+y ¢) 55 d)%?

- 4pq’ f39 ¢* T TS J: Coefficient of g’ in — 4pq’ is:

a)-4 b) 4p c) pq d) -4p

79 2(x+1)=5x I< 3T x- % T St =9 If 2(x +1)= 5x then value ofx—% is:
2 2 5 5
a) 5 b) _E C) -E d)g

(1°+2°+3°) = & T
value of (1° +2°+3°) is:

a)0 b) 1 c)3 d) 6
a"x a'=
a)a™ b) a™" c)a" " dja™

6 n3 2" f&T foaagr <37 I7
Which is greater: 6° or 2° ?

a) 6’ b) 2° c) €& JH(both) d) fegat f&9° €t &t (None of these)
4x10000+6x1000+6x10+5="7?
a) 46650 b) 46605 c) 46065 d) 40665

2x2+axa T W3 & gu I
Exponent formof 2x 2 +ax ais:

a)2+a b)jaxa+2x2 ¢)2°+a’ d) fegst f&8° I &Jt (None of these)
256 3 2 &F w3 ¥ U &9 fed | Write 256 as power of 2.

a) 2° b) 2’ ¢ 2* d)2°

(3°+4")x 2> @7 H& J: value of (3°+4")x2* is:

a)2 b) 6 c)8 d) 10

5" o1 % JIo fsfmrt f&9° far @ g9vag 39
Which of the following is equal to the value of 5°* ?

a) 5100+ 5100 b) 2100+ 3100 c) SIOOX 5100 d) 5100)( 52
[(4°)’] €7 H& J<4r: The value of [(4°)’] will be:
a) (4)° b) 16 c) 24 d) (4

-1+ (-1)" T H® I
The value of (-1)"+ (-1)' will be:
a)o b) 61 c)2 d)1
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Worksheet-19 Class VII unit test 4
niftorfe : f3g7 € AISaTAH3T (Congurency of triangles), UfgH™ w3 ¥3ISS (Perimeter and area), AHTHST

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

(Symmetry), 37 &gt T fg395 (Solid figures)
fe3 a2 fg39 <9 ABE = CDB fHUIIs &t 3t fags ATHITANST WU €3 T yGiar 7
F3dI? In the given figure, which of the following congruency criteria will be
used to prove that ABE = CDB?

A B C
a) RHS b) SSS c) SAS d) ASA
&3t 1337 ASHIH3T © fd03 HUTS MaHAT AJHdAH I& 7
Under which criteria the given triangles are congruent?
a) SSS b) SAS c) RHS d) ASA

AIHIAHST © faas feu nisarg 83 3T fo39 fegdt € f3gat AagdamH 987
By which congruency criterion ,the two triangles in given figure are congruent ?
a) SSS b) RHS c) ASA d) SAS

EJst &9 fa03™ a8s ATt I ?Which of the following statements is true ?
a)e %@6‘ T AJHIHH J© J& I Two acute angles are congruent .
b)idg € f33AT T ¥39e% 99799 JI< 3° 8T AIHIAN JT IS |

If the area of two triangles is same ,they are congruent .
¢) © AHSE AJHJTAN J¥ I& | Two right angles are congruent .

d) 799 € Wifest Tr ¥39e% 99799 J< 3T 8T ATHIAN I I |
If the area of two rectangles are same ,they are congruent .
f&3 939 fR9QS PR, RT PQ 3 QS =RT AJHIAHIT © fqaz f6tH € »i33d3 AQSR = ARTQ
In the given figure QS PR, RT PQ and QS = RT ,by which congruence criterion AQSR = ARTQ
a) RHS b) SSS c) SAS d) ASA g ;
£ Z
&3 3T fu39 S99 x T ¥® ot I A99 330 AIHIAN J= | s
In the given figure what is the value of x if the triangles are congruent: y 5
B D
a) 5cm b) 3cm c) 7cm d) ST &dt (None of these) p
fesdefdzafem A APQR
In the given figure A............... APQR 4\ .
a) AQDR b) ADRQ ¢) AQRD d) fegst &9 =T &dt (None of these)

Jo foitmrt 9 AHTST 93990 © U39es © H39 ge:
Choose the correct formula to find the area of a parallelogram

a) g x 89TET (base x height) b)%XYJ*ITCl"_d’ x8TTET (% x base x height) c¢)nr’ d) FAT x31T (side x side)

&3 e fg39 <9 fam = uformu 2T I? In given figure, which has greater perimeter? / \
a) ddi(Square) b) 9d(Circle) «¢) Erl TT(Both) d)u3T &JT° 3T AT AT (Can't be determined) K /
& nrfez T ufgHmy 130 AH J1 799 »ifEs &t 9378 30 AX J= 3T nifes &t Saret J=drt:
The perimeter of a rectangle is 130cm. if the breadth of the rectangle is 30cm,then its length will be:
a) 35cm b) 30cm c) 25cm d) 4cm

T TIIM T UfGHUT T nigums 2:1 I| BJaT € U3ISH T »igU3 o J=dI?

Ratio of perimeters of two squares is 2:1. What will be the ratio of their areas?

a)2:1 b) 3:1 c)4:1 d) 4:/3
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12)

13)

14)

15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

25)

50 Hteg Baret T £ nrfestarg g1 T 839e® 3000 I99T Hieg I 19w <t 937t & 972
The length of a rectangular park whose area is 3000 square metres is 50 metres. What is its breadth of the park?
a) 40m b) 60m c) 80m d) 1500m
Hod TJdT T Y3Je® Jdd & u3Je® I979d J 3T TJdT T AT w3 I &7 »dU fen™H T wiguts o Jear?
If area of a square is same as area of a circle then what will be the ratio of lengths of side of a square and radius
of a circle?
a)vr:1 b)vr :2 c)l:vr d)m:1
JI T »iIy fof™H & I fArReT ufgH™u 88 AN I | What is the radius of a circle whose perimeter is 88cm?
a) 7 AH (cm) b) 14 AH(cm) c) 21 AH(cm) d)%m—r(cm)
IR ST © 439e® W3 foni™ T »igu3 ot J=dm? What will be the ratio of area of a circle and its diameter?
a)w b) 2rr C)% d)%
9« 939 © Wi AHfHSt & @1 1 The order of rotational symmetry of the following is:

b) a)
a3 are fusg fTo mHfist St & fasst 9:
Number of symmetrical lines in the following figureis: [£
€I AH & 3d ot fadhnrt AHTHS Juret Jehit 967 How many lines of symmetry are there in regular

hexagon?

a)2 b) 3 c)6 d)o

5 f&3 &8 faggm »rfes T uive AHfHSt & g0  AET J7Which of the following can be order of
rotational symmetry of rectangle?

a)1l b) 2 c)3 d)4
Jag & AHfHET Sy = THIT &7 & I? Another name of line of symmetry in a circle is:
a) I (Arc) b) »Iu fenw™ (Radius) c) I U3 (Sector) d) feni™ (Diameter)

5 fofimrt &5 fam &t W AT & o © 3 2 I:Which of the following has rotational symmetry of

order more than 2:

(i) @ (ii) A (i) <%> (iv) feg Ao T Al of these)

............. fog’Ff o et 2 AHfHST Sur ot T eoeoveeeeenenne. triangle has no line of symmetry.

a) ANST(Equilateral) b) AMESH (Isosceles) c) faumswT (Scalene)  d) feast f&8° =t &dt (None of these)
B T ¥3< TIUs &9 yIHEg ot 92ar? What is the mirror image of B in horizontal mirror?

a)d b) B c)w d)m

f&x Hg § ¥ U 8 ez 3 a3t gA9-Te YUz Jeb J70n cutting a cone vertically, cross-section formed

is:
a) mfe3(Rectangle) b) 9d(Circle) c) f3gH(Triangle)  d) <91 (Square)
fd39 fS9 AonE ¥ fom ©F ufge™= &9 In given figure which is the front view:

qua fal . N 'Se
[EJar 19 None of these
If’ ] I | ot

..

a) b) o) d)
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Worksheet-20 Class VII unit test 5 Miscellaneous exercise

1)

2)

3)

4)

5)

HO® e 8F ¥3 &9 2000 Ju® Ay JJeT J »i3 nias fos fer u3 87 1642 ue et &Tr J
Had FeeTEl JE IH § foesHa Aftm a1 eaATfent A< 3t AWt 1St ITHT § IAT R 397 T9Aar?
Mohan deposits Rs 2000 in his bank account and withdraws Rs 1642 next day from it. If withdrawal of amount
from the account is represented by a negative integer, then how will you represent the amount deposited?

a) 1642 b) 2000 c)-1642 d) -2000

AJT fH®S &9 (Match the column:) ):T'lél?iﬁ Aftm=t a, b ™3 ¢ ST (for integers a, b and ¢)

a)axb=bxa Jr=T = AfJYTI3T I (Associative property of multiplication)
b)axl=1xa=a JIET &€ gH ITEdT I (Commutativity of multiplication)
c)(axb)xc=ax(bxc) 73 3 JieT <1 ITZFIT fouH (Distributivity of multiplication over addition)

d)ax(b+c)=axb+ axc JIESHA IIAHA (Multiplicative identity)
J5 &3 fo39 &t 7t feasy Eﬁ:Choose the correct option for the given figure:

~ -
& B A
Y 1 Y AT R b K
T Nt \___;'_’/

a)2+7 b)2x )2+ d)2-+
~ ~ N i hae 3 N . o bl .
HIg 8 mifEes = UfgHY 13 AH J »i3 BHE! 9378t 27 AH J, 3T feret Sgret J<dit: Perimeter of a
rectangle is 13 cm. If its breadth is 2%cm then find length will be:
3 3 4 1
a)37 b) 24 o2y d)SZcm
fex fefonadt € ufg® w3 Tr ANACT & Frogmt fast Jet 9

The performance of students in 1st Term and 2nd Term is given.

s fd<t afes fefams
femm (Subject) Vit (English) - . AHAx fefamis(S. Science)
(Hindi) (Maths) (Science)
ufgsT ANAEI(RT 3 2T 100 »ix) . 7 . . .
1st Term (M.M. 100)
QWW(QU?QU 100 ™Md) 70 65 95 35 75
2nd Term (M.M. 100)

I foftmr &8, €2 ARACIT © niAs BT AJT 8§39 faa3™ I 2From the following which is true for average in
two terms.

a) Ufg® AHACT T WiAZ &SI, T AHACY &% <4 J|

The average result of first term is more than the average result of second term.

a)ufgss AHACT T WAS &3, T AHACY &8 ue J|

The average result of first term is less than the average result of second term.

b)ufa® FHACT T WiAZ &319T, T AHACT € WA 331 € 9999 J|

The average result of first term is equal to the average result of second term.

c)Ufu® AHACT € WAS &1 & T AHACT € YIAS 5311 &% 3B ad1 aisT A7 AGe! J|

The average result of first term can't be compared to the average result of second term.
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6) “Hftmr x¥ fEq f3get 9 5 735 3 8 yus Jev 71 fer ags = miiaes qu O
”By adding 5 to one third of x we get 8” equation for the statement is:
a) 3x+8=5 b) 8x+3=5 €) 3 x+5=8 d) 3x+8=5
7) 79 ASH & & gufent T fafont & fasst Um gufent T fafost &t et g9 = 9
3 B8R % 3@ IHT 81 JUT I 3 fEa qufent © fafomtt <t faest It
Salim has 4 times as many one rupees coins as he has five rupees coins. If he has a total of 81 rupees then the
denomination of one rupee coin he has:

a) 30 b) 36 c) 42 d) 46

8) f&3 fg39 @9 X0z M3 Y0z I It T A3 TS| Had p-q=80" ITp M3 q =T &
H® HE™T off ILA? In the figure given, ZXOZ and £YOZ form a linear pair. If p-q=80", 9
what will be the values of p and q respectively? i g i
a) 130°, 50° b) 50°, 130° c) 120°, 60° d) 60°, 120°

9) f&3 39 <9 al|b W3 c||d| AT £1=75" 3F £3 T HY & J<ar? a b
In the figure given, a| |b and c| |d. If £1=75°, what is the measure of £3? 1 .
a) 105° b) 100° ¢) 75° d) 55° 4

10) &€ TSt SH & »iUE enfidT 83 AT ff9° 30 A9 i3 1 A9 Gaaf & fiz =
YStHS 20% I 3° 8IaT Tniar 83 HI™ &F farast J=dm: A hockey team won 30 matches . If the percentage of
winning is 20% , number of matches played by the team will be:
a) 100 b) 150 c) 200 d) 120

11) 303 8 U3 &9 2400 JUT 7T I& M3 ford & €9 5% AgeT I I8 At smie fonma € It 240
JUT J=IT ? You have RS.2,400 in your account and the interest rate is 5%. After how many years would you
earn Rs. 240 as interest.

a) 2.5 years b) 3 years c) 2 years d) 2.5 years
~ v -1 o EN
12) a ¥ fSH U BT — ufonn Aftmr &3t I7
For what value of a the number%1 is not a rational number?
a)-1 b) 1 c)0 d) 10
13) f&3 fg39 &9 PQ=PS ,x T H& U3T AJ? In the given figure PQ=PS. The value of x is: /RN
a) 35° b) 45° c) 55° d) 70° R

14) far f3gm S ga<t & HY 3cem, 4 cm 3 5cm J1 feg 337 T - " ,L
Lengths of sides of a triangle are 3 cm,4cm and 5cm. This triangle is: :
a) nfod J&t f33=(Obtuse angled triangle) b) %@3 J&t f33&( Acute angled triangle)
) AH &t %@E(Right angled triangle) d) fegst f&9° It ad(None of these)

15) ursht & At @ mE 21 A St 91 ffet @ Bet v fawrar 60 fite T fetat get 3fo ader
The minute hand of a circular clock is 21 cm long. How far does the tip of the minute hand moves in 60 minutes?
a) 132 AH b) 88 AH c)44 AH d) 22 AH

16) TI T nIU fenfAT T niguts 3:2 J| fEdst ¥ ¥39es & nigu™s J:
Ratio of radii of two circles is 3:2. The ratio of their areas is:
a)2:3 b) 4:9 c)3:2 d)9:4
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7" O Based Worksheet :21

1) 52.5+ 10T & J=d:
Find the value of 52.5 + 10.
1) 525 2)0.525 3)525  4) 5250

2) feg Aftmr 357 9 we8s 3 40 yuz Jer I At U3t &9
On subtracting 9 from a number, we get 40. Find the number.
1) 49 2) 45 3) 48 4) 51

3) I% a9 : %x+2=4?x+4

5x 4x
SoIve:T+2=?+4

16 9 40
1) 210 3)= 47

4) fea THZ 30% 3T 3 fHesel J, IS 3 g IS BT UL -
An item is available at 30% discount. How much amount should be paid after discount?

(1) 70% (2) 50% (3) 50% (4) 35%

5) 79 AABC 3 ADEF HH®%& CAB—EDF ¥ ni3dd3 ATYdAH JT 3T fegat fIg faoz

GG AT 3t I?
If for AABC and ADEF the correspondence CAB <>EDF gives a congruence ,then which of the

following is not true ?

(1) AC=DE (2) AB=EF
(3) ZA= /D (4) LC= /F

6) I3 T T% neHt € % T 6 I J 179 913 °f 9% 120 faialer 99 3t vt &

I J<dit ?
The speed of a Cheetah is 6 times the speed of a Man. If Speed of Cheetah is 120 km/h then

the speed of the man will be
(1) 6 fa.Htde (km/h)
(3) 60 fa.HtdzT  (km/h)

7) Y33, 7 939 R sare ar-grfenr wifazs 391 § e9A@er T |

(2) 72 fa.Htpder (km/h)
(4) 20 fa.Htder (km/h)

The per cent that represents the unshaded region in the figure.
(1) 75% (2) 50% (3) 40% (4) 60%

8).A3% &J: (a + b)? + (a — b)?
Simplify: (a + b)? + (a — b)?
(1) 2a% — 2b? ) 4ab  (3) —4ab

(4) 2a? + 2b?



o) fea ufaier Fifemr § fimirdt gu ffg TorBz wet nirt Wil w3 a9 § BF &
EXIECE
To reduce a rational number to its Standard form we always divide numerator and
denominator by their
(1) B.A.L. (L.C.M.) (2)H.A.T. (H.C.F.)
(3)drET  ( Product) (4) Ied  (Multiple)

10) 53.07 = feAf33 JU Be:
Choose the expanded form of 53.07:

1) 5x100+ 3x1+7xX—
1100

2) 5x10+ 3X1+7XB

3) 5x1000 + 3><1+7><510

4) 5x104 3X1+7x—
100

11) IHiA 9T T fEF TI6ET & »UE AT ©F YIS I9at J Infafant € 39 3 8o 99
I7 feas Tt aftat & WU &2 a9 J1ER fg feast wiafant 3° aedt yfeast =
fggz™ vy BAE A YISt Bt HeE FJdr?

A shopkeeper sells shirts and wants to update his stock. He collects the data of
measurements of the shirts sold daily. Which of the following measure of central tendency
would be helpful to update his record?

1) Hfoar (Median) 2)HOHS  (Mean)
3) 998 (Mode ) 4) feg®s HIHT (Range)

12) foa ggesa se78E et e 3 ue 38 suar € 79I Iet 92
How many minimum numbers of faces are needed to make a polyhedron?

(1) 3 (2) 5 (3) 2 4) 4

13) fEx R 09T Wt arEt Aqr & H3TT § AT &t nine Tt?
The space occupied by any solid is said to be its ?

(1) feRet UTHSY AT ¥ U39EH (curved surface area)
(2) fer<t g% AT € U3Je®  (total surface area )

(3) fereT nirfeE3® (volume)

(al n

(4) fegat f&5° I 3T (None of these)

14) f&a fsea=. .
1litre=.........
(1) 100 AH? (cm?)  (2) 1000FH3 (cm?) (3) 1H3m?3) (4) 1AH3(cm?)
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1) 799 & Ia9 T »igufeni™ w3 IIdT ©F AT I979d J< 3T J6 fodnit f&5° fagsT ATt
7
If radius of circle and side of square has same value then which of the following is true?
1) feuat ¥ ¥39€® gdTad J<ar|
(Area of circle and square Will be same.)
2) TIdT € Y3ISH ddd © u3deS 3 frmmer gedr
(area of square is more than area of circle.)
3) Iad T U3JeH <941 & u3deS 3 frmmer gedr

area of circle is more than area of square.

4) fegst &9 =T = &Jt I None of these

2) —b— 0539 J:
-b - 0is equal to:
1)-1xb 2)1-b-0
3)0-(—1)xb 4)y-b—-0-1

3) D'+-DN s U3t IS
Find the value of (-1)'%+(-1)"!

(1) 0 ) 61 (3) 2 ) 1

4) 99 T AHTHST S T gRTT & 37
The other name of line of symmetry of circle is
(1) T (Arc)
(2) mi3u fem™A((Radius)
(3) T3 ¥3 (Sector)
(4) fet™7 (Diameter)

5) fEst aret Aftmr JuT § Tu J UsT &9 X Io fedit <97 fare ve Ag 3 20 d=am?
By observing the given number line, find which of the following has the greatest value?
< i i i >

a 0 b
1) a+b 2) b-a 3)axb 4)a-b

6) fex € udnit T79% & fseg Uedw €9 55.3 faHt. & gt 3nf J9et J1 feg T35 10
e Uedw ST faat gdt 3 J9ar?
A two wheeler covers 55.3 km distance in one litre petrol. How much distance will it cover in
10 litre petrol?
1) 5.53 f&.H. (km) 2) 55.30 fa.Ht. (km)
3) 553 fa.Ht. (km) 4) 550.3 fa.Ht. (km)




7) fe3 arg 939 39 Jo fafimit 9" ot TIrfen famim 32

Which of the following is represented in the given figure:

|_—I |_T_I_—I I_—l__l_—l |

o e :
l_ ! =
("o~ = - —
T T T O R I I N
(1)3x§ (2)2x3 (3)6x% (4)3x§

8)Ha9 3 3979 € €6 UH §9789 J€ i3 IB6TY 8936 © 99 44 fS@qH I 3t

JAgH € 39 U3T 9 |
If both sides of the given balance are equal &J L@,—QJ
1

and weight of a cylindrical vessel is 44 kg

then find the weight of a pentagon.
(1) U3T &It 3T AT ALET (can not be determined)

(2) 10 fa&BarH (kg)
(3) 11 fIBH (kg)
(4) 12 fa&BarH (kg)

9) fEx 33w Tt & grre’ & WU 12 AX »i3 15 AN J1 feret StAst 3am T vy faagr
T At ¥ &g Jear|
The lengths of two sides of a triangle are 12 cm and 15 cm. Between which two numbers can
length of the third side fall?
(1) 3cmand 15 cm (2) 12 cm and 15 cm
(3)12cmand 27 cm (4)3cmand 27 cm

10) fe3 a8 fI39 <9 x =7 ¥® U3T &9 |
In the given figure, find the value of X.

(1) 30° (2) 60°
(3) 150° (4) U3T &It 3T AT AAET (can not be determined) =~ 3%

11) BTN ¥ IfoT & aat & »uE iz T gaio T8 o3 Ju @are | feost fS9 a3 9o
e% @ AG| Buat gyt ot Hftmim 7 %' @ &dt s, %' % gt € At @ f39E 32
faimeT A/ 1799 mifad 3ot & Aftnr 7 €% @ 591 As, 77 J 3T HarE T €% © Ut of
At oft J=am?

People of Sundargram planted trees in the village garden. Some of the trees were fruit trees.
The number of non-fruit trees were two more than three times the number of fruit trees. What
was the number of fruit trees planted if the number of non-fruit trees planted was 777?

(1)25 (2)15 (3)77 (4)37
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1)fe39 IR AT ¢| | m IR 3T x T HS UST I | [ om
In the given figure, If ¢| | m then find the value of x. 1007 3
(1)200° (2) 80° (3)100° (4) 120°

2) (29 +(3%) + (4™%0) T H® U3T T |
Find the value of (2%) + (3%) + (4*x0).
(1) 95 (2) 43 (3)31 (4) 16

= fa'ﬂe‘e*zﬁuraﬁvme?wfum*

3) f&3T famr 979 997e |, TY-IY USHT IH gITET IIE 7% 40
YStaut wShntt & 779 &t o3 T €% AgeyE & T9A g e | *°
UIW%WMEWB&?U%@WW :5:;
WSt 7% yStout I e A9 3 gme §udas &3ty

=10W

ow: 1 feamt

o

Y3 J¢ I | fERe mirg 3 ot 3AT ¥F Ao J fx fxad] A R
st Ehoft wEhtt b 957 . )
The bar graph shows the result of a survey to test water [[] Number that leaked

resistant watches made by different companies. Each of these
companies claimed that their watches were water resistant.
After a test the above results were revealed. Could you tell on
this basis which company has better watches? 10
A TB Cc D

(1)Ust A (Company A) Companies

(2) SUAT B (Company B)

(3) FUST C  (Company C)

(4) UST D (Company D)

Scale : 1 unit = 10 watches

4) 3TST N T fox JI IH &% fgaie 1o I 7 fagr I feo SRS oas &t o faast
ufgst gsa 9|
Your team is going to play cricket match with another team. To decide who will bat first, a

coin is tossed. What is the probability that your team would bat first?

W1 @0 @G 5 @ :

5) f&3 a2 fg39 o9 gfonr vifas 391 @ 839e®% UST&9: A 10 cm ,E\ Sem g
/

T ,,’/
Find the area of the shaded portion in the given figure: fem /,f” \ ]
Fr b3
(1) 180 AH* (cm?) (2) 40 AH? (cm?) 1 =

(3) 110 AH? (cm?) (4) 100 AH? (cm?) 4 om

D C

— fecm ——



6) f3 a® 13 § By A e @ T
By observing the given pattern, fill in the blank:

-4 x4= -16
-4 x3= -12
-4 x2= -8
-4 x1= -4
-4 x0= 0
Ax(1)=___
(1) -4 (2)4 (3)-41 (4)-1

7) 15 yAat T8 &g AH3 2Ac feg I9a 3la €33 &t 4 wia &3 AT 96 i3 a%3 €39 ©
-2 Yix &3 AT I6 17 IIYIs AW yFaT § I8 J9et J, Ud3 Bre €339 <9 o= 9 ol
I5 1 3t BAS fdd nid yuz a3

In a class test containing 15 questions, 4 marks are given for every correct answer and (-2)

marks are given for every incorrect answer. Gurpreet attempts all questions but only 9 of her
answers are correct. What is her total score?
(1) 24 (2) 42 (3)12 (4)-24
8) g™ S%hﬁmﬁsmﬁzﬁ%@qwﬁz%uﬁ??ﬁ% 8H T HAT I B T AH
3T UIT A9 |

Sameera bought 3% Kg apples and 4% Kg oranges. Find the total weight of fruits she

bought.
(1) 4%@?@3}\"’)—[ ( Kilogram) (2) 7%1%(’88]"7—[ ( Kilogram)
(3) 8%(?%81‘0—[ ( Kilogram) (4) 8%%(?%31’0—[ ( Kilogram)

9) nifter fo &5 HY et 1 Qg HIS & vt Hfimr Aoz wet afdet I w3 GR Hfinr &
4 5% J& a9 §F *9 5 Az § afdet I1 Hig €ret I fa 8 aw fer 397 65 yuz
Jfenm imnffer ERet I fx #G enrar ALY aret Aftmr J
Ameena plays a game with her friend Sheenu. She asks Sheenu to think of a number and
to multiply it by 4 and then to add 5. Sheenu tells Ameena that this way she got 65.
Ameena tells that the number thought by Sheenu is

(1)23  (2)15 (3)3 (4) 12

10) fEx Touz 3t 3 5 Hieg € Qe I Ce AT I w3
gre QUi iy gt @ 8AT »m 3 12 Hieg &t
I 3 AUTH d9e' J1 Y3 ©F G usT a9 |
A tree is broken at a height of 5 m from the ground and its
top touches the ground at a distance of 12 m from the base
of the tree. Find the original height of the tree.

(1) 13 Ht2g  ( meter) (2) 18 HtZT ( meter)

(3) 10 Hteg ( meter) (4) 12 Ht2T ( meter)
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H'SIHE W8T YAS (Mental ability questions)
Yra: 1 fdSoft aretort Atmret K97 niga=t Aftn usT &9 |
Find the odd number from the given numbers.
192]193[94 [95 |96 97 |
a) 92 b) 94 c) 96 d) 97
YAS: 2?2 'HE'S 3 fIadt Afemir widit? At fessy & 9T o3|

Which number will replace '?' Choose the right option.
1508, 2517, 3526, 4535, ?
a) 5544 b) 5546 c) 5644 d) 4646

YH®:3 I AES 99

Find the missing term:-

B 4 - 3
44 40 ?
12 12 12

a) 36 b) 26 c) 46 d) 16
fegen: yas( 4-5) <o forms ' ' © U9 UA &3 meel wiug' feo® AU wigHT '+ ' © AR
UH &3 mee/ wygt fSg €3 ASg AEfU3 396 @t At feasy & 9T 3|

Direction: Developing relationship between words/numbers on left of sign': :'. find

same kind of relationship among words/ numbers on the right side of sign'::' in the
questions (4-5).
YHe:4 59 61 : :67 :?
a) 69 b) 70 c)72 d) 73
YHa:5 Hol: OHE" 1@ 39dE:?

Cobbler: leather : : Carpenter: ?
a) SI&gI (Furniture) b) BaF (Wood)  ¢)aIAt (Chair) d) J&st
(Hammer)
YA®:6 wHdt § i 39319 © J JEt ArgES HET 6|
Form a meaningful word by rearranging the letters.
C @) S H O L

1 2 3 4 5 6
a) 314265 b)341256 ) 314256  d) 342156

YA 7 WASH mEedH WoRd fda3 HeT B8 AE'S 3 Wedr?

According to dictionary order, which word will come at fourth place?
a) Express b) Extend c) Expand d) Expire



UAG:8 ? 'Y HE'G 3 fdagr fg3a wear ? Adl feasy g2l
Which finger will replace '?' Choice the right option.

D A= || ?
I=| X ||t

(a} L] =] {d)
yrs:9 fog B3 €% forrar agd #3n dfder J, @A & 13 At AR < feasst st I
H3W © OH B3l &S df faus™ 32

Introducing a girl, Santosh said, Her mother is the only daughter of my mother-in-
law, How is Santosh related to the girl?

a) fu3r (Father ) b) H3" (Mother)  c) 3 )Sister)
YA 10 i35t ard 33t & yar 53-
Complete the given series.
COE, GNI, KMM, OLX...........
a) RKU b) UKS c) SKU d) SKT

d) 3J" (Brother)

YA&:11 A9d LOVE T dF 54 3 3t HATE T a3 &t J=ar?

If ‘LOVE’ has code 54, then what in the code for HATE?
a) 44 b)34 c)24 d) 14

Yrs: 12 639 § yI d9s B8 AT feasy & g 937

Choose the correct option to complete the figure.

=
RIS

) (8) )

YA%:13: WIH €33 <8 7 fggr J1 I S yA IZ HF o | feg Go eaar g uA &8
Hig w3 iz &9 fag 89 A0 UA % HF famim| JE wan far ferr @8 o faar
I?

Arsh is moving towards north. He turned to his left. Then again he turned to
left and at the end he turned to his right side. In which direction is he moving

now?

a) YJH (East) b) UsSH (West) c) TYE( South) d) €39 (North)
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